MR 77"7 0N R, PR L7102

= N1 1913 92V TaY NAIN NNRT X321 NN
Rovo said; this teaches that the body of an 12y 72y is acquired

Overview

Our X3 cites a X012 which states that an °72y 72y goes free with a 0w, X2
concluded that this Xn>12 teaches us that an ¥"V is ™1p 191 to the master (and
therefore merely saying that he is free is insufficient, we require a W to release him
from this 7137 11p)." Moo discusses whether our mwn also maintains "1p 191 ¥'".

- 2’13‘,7 1993 1PN 293 TaAYT 9201 YNIYN IOV PNINNI 2PYN XYM
Since our mw» does not mention that an ¥"V is qww2a XX, it seems that the RXin of
our Mw» maintains that the body of the ¥''y is not "1 to his master —

nvoIn asks:
- 31m’mm< 1999 9551 3P 199X 293y TaY YNINPT NAYT NI

And it is astounding! How is it that X29 argues on our mw» and maintains »''y
1P 122!

mooIN anticipates a possible resolution (but rejects it):
=997 %Y N30 XD 199 %51 RNHA) P27 X297 9139190 NI

And we cannot say that 829 merely infers from the Xn>»92 that the Xn>>172 (which

mentions W) maintains that 1P 1012 ¥"Y, however X271 himself does not agree
with the Xn>72, but rather X217 maintains 1P 1912 PX V"V just like our 71wn (which would answer
mooIN question) —

mooIn rejects this resolution:
- “nmaw 519 1951 1Y (x,n2 97 179293 1NDPY IINY

! See previous &n°? 1"7 'o1n [TIE footnote # 10].

* Therefore there is no need for a 7vWw to free him; the master can merely say the same words that appear in the q0w
and the ¥"v will be free; since 191 is not *11p, the words (of 79°mn) are sufficient. The same way the X012, which
mentions W teaches us that "1p 1913, similarly the fact that the 71wn does not mention W, indicates that the m1wn
maintains "1p 197 PX ¥"Y. See ‘Thinking it over’.

> We (seemingly) have a dispute between a 711wn ano (which maintains M 1913 PX ¥"Y) and the Xn» 2 (which
maintains "1p 101 ¥"Y). We usually follow the ruling of the 71wn against a Xn>12 (especially a 71wn ono); how is it
that X217 chose the Xn>12 over a 71wn ono?!

* The law of 12w 1) is that if a litigant is required to swear (against the opposing litigant), the opposing litigant
may ‘roll over’ (?723) other my1aw and make him swear on other litigations between them that ordinarily do not
require a m2w. The X7 wants to know how far fetched may his claims be to require a 7312w 923, X211 answered
that he may even claim that ‘you are my ¥"¥. The X3 asked why is this considered to be a far fetched claim; he is
claiming that he is owed money (the work which the ¥"¥ is required to do).
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For the X3 later in this P15 asks; ‘how far does 7312w 1393 go?” -
- 5’1317 1993 293y TaY N9 9INT NMNIYLY X9 7201

And the X773 concludes that X2 follows his ruling, for X239 ruled >ap 2w p''v. It
is evident from that X713 that X327 actually maintains that *137 1973 ¥"v and not merely that X217
inferred that the Xn>72 maintains so. The question remains how can X237 argue on our 71wn!

N1B0IN answers:
- 5137 19937 1920 3193 PNINNT INY Y

And one can say; that our /7w can also maintain that >1p 913 -
- 90V 2YYN N7 NN

And the reason our 71w» does not mention “¥w (is not because "3p 1913 T°X, but rather) -
= 1R S 1N Y2 DHY MINOKY RYN 2SUN XY 1PNINNT NINT DIUN

Because the Xin of our mwn does not mention all possible MX°x>, but rather only

those MmR>3° which are against the will of the master -
SVIN Y SNy Tow Yax

however the X°%> of 9vw can only be with the consent of the master; therefore it is
not mentioned, but it has nothing to do with "1p 191 PX.

Summary
Our mwn can maintain "M1p 1913 ¥"Y, but it does not mention MWW since it is not a

7%°¥> which is 7178 v 2"va.

Thinking it over

mooIn (in his question) inferred that our mwn (since it does not mention VY)
maintains that "1 190 X ¥"v.” However there is still the question why the mwn did
not include the 7X°X¥> of 9°1 >0 *0x2 7% ®*» (and also the aR*%> of Tpo17)2!™

> See *"w there 190 11" that the wTn is even though it is not a claim of 1°?u%vn (for he claims he owns the 72y [we
say "1p 191] and a person is not considered 1"705vn), nevertheless there is w">>y ,7y12w 2393,

% We cannot prove from the fact that the 7w does not mention 7uw that it maintains *1p 11 PX ¥"v.

! By an 3"y this includes 103 1Ww13 ,521° ,0°w; by 7°12v7 7R this includes (the additional ax°%* of) PIa°0; by a v¥I1 it
includes 187 NN 9ar [all these MR are NTX 9w 2"v3; the master cannot prevent them from happening].

8 The N7X cannot be coerced to free his ¥"v with a qvw. If he is coerced it is invalid and he remains his 72v.

? See footnote # 2.

19 See X"wmn.
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